= o
N & 0l & AF & E A A
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SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
NHSEAMG L 308,659 294,824 13,835
DAHSH NESEAGL 29 83,655 66,321 17,334
SEXQ HA2el 83,655 66,321 17,334
S FHAEE 22 83,655 66,321 17,334
101 @14 dl 30,267 26,107 4,160
4 D12t ZE2XREES 30,267 26,107 4,160
OF&ER 22X Exx(HA) 27,300
OJles 81,3403 = 18 = 262 » 12& 25,379
OY &S tHl 200,000& * 23] 400
OHA XL &I 81,3403  15¢ 1,221
OXFE=EXNEAE 300,000& * 13 300
O=E2 4UBER JI&ARE2 2,967
O=2d3 27,298, 180& * 4.5% 1,229
(OFaRzg-g= 27,298,180& * 3.335% 911
OFIILAEH 910,400& * 10.25% 94
CnE:Ed 27,298,180& * 1.65% 451
O&NEH 27,298,180& * 1.03% 282
201 Yot Y| 52,388 39,214 13,174
01 At 22l 19,276 11,438 7,838
CgRUeEr+= 14,117
O&st=x Ha 400,000& * 13| * 95% 380
Oaxotd 2
220,000& = 123] = 95% 2,508
QEI|etd e a2
110,000& = 123] = 95% 1,254
OHBLBYEANLE HE a2
1,500,000& * 13| * 95% 1,425
OFANSELY =8
750,000& * 123 * 95% 8,550
OFEAL Re13H 9 150,000 * 128 * 95% 1,710
O&F=J| dX= 50,0003 = 3CH = 12& = 95% 1,710
OAAME BIHHF)I dxtz
45,0003 = 2CH = 128 = 95% 1,026
O=3tH EM7LHI
12,5003 = 30&A = 23| = 95% 713
02 3322l 33,112 27,776 5,336
OFAAIE KX =4I 3,7483 « 1,447’ 5,424
OFXUE A& ZHI(IHIAEH, =)
1,320,000& 1,320
ox&dzel 2,500,000& 2,500
oXIRS 1,600,000& * 12& 19,200
OsdR= 50,0002 *12& 600




SN HPSBAYL
HE: DAZH HPSSAUL 29
& EE2H A2 EEREEED)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ogYs =B 30,000& = 12& 360
O&ot+=E 23 280,000& = 12& 3,360
OnsExRLFE3 300,000& = 13l 300
OAetME 3l 48,000& = 13l 48
203 YR =] 1,000 1,000 0
03 AIF=XH 2 =AH| 1,000 1,000 0
oOXngsE gRF2 1,000,000& 1,000
HY2IZH (NS SSAEL) 225,004 228,503 A 3,499
ol 2 gl 137,559 137,128 431
ol Al 137,559 137,128 431
101 @144l 137,559 137,128 431
01 2= 137,559 137,128 431
o= 137,559
OxZH2Z =< 137,559
AR AT (LBHE 32)
10,8413 = 32% = 30AI2t = 123 124,889
“AERIZ R Y (DI H4Y)
8,798 + 4F = 30AI2t + 128 12,670
Jl2Z3l 87,445 91,375 A 3,930
JlE2&tl 87,445 91,375 A 3,930
201 et 42,225 44,571 A 2,346
01 At 22l 42,225 44,571 A 2,346
CPEEERS T IGIEET)
500,000& = 37 = 90% 16,650
CEELIE/ES=1-1p)
8,000& = 37 * 8 » 12& » 90% 25,575
202 o4dl 36,720 38,304 N 1,584
01 = LH o4 1l 36,720 38,304 A 1,584
O=2UWAHHI(IIEZHl)
20,0002 = 30¥ » 6 » 128 * 85% 36,720
203 YR =& 8,500 8,500 0
02 Ity =2 2,200 2,200 0
OPJE=E. 40,0003 = 559 2,200
04 FENSEHE=LH 6,300 6,300 0
OJI&EN 6,300
OJI&E (302! 0lat) 400,000& = 12& 4,800
OJIEH (302 =) 5,000& » 25 « 128 1,500




